4

300 Y. ©h wosRAS™D 15 szre nso
(1) 315 (2) 360 (3) 415 (4) 460
2 I'he distance between the points (0, 0) and (5, 12) is
(0, 0) »oaxw (5. 12) Docosye Deg Brdo
(1) 11 (2) 12 (3) 13 (4) 14
3 TI'he centre of a circle with (1. 2) and (7, —4), as end points of the diameter is
(1, 2) ®8any (7. —4) en T e e Ko B8 Bo|do
(1) (4. 1) (2) 4, -1) (3) (4. -D (4) (4. 1)
The roots of x2+x—-6=0 are
.r2+.r—~6=ﬂ ﬂn!& AaTreren
(1) 2, -3 (2) -2, 3 (3)-2; 3 (4) -2, -3
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Note : Belore answering (he

Cuestion Bockle' No

OMR sheet

questions, read carefully the instructions given on the

ardd - (D)ol BTtwen |oranye, wo, OMR azren Hsfust THRWAL W Shen RS SS508
SECTION — A : MATHEMATICS (5e3: 9 500)

The sum of 15 terms of AP 3.6.9
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' 2 HRAET
t]lliltlr1liit: t:tlli:lll{1ll {1x

5 IT the rooLs of the
(' |
. | 4+ 2 —
) @0 CIOIED, 2
A forertey -
s (1 ewv s - Lhy 4+ = () g'}ll_lr‘it'."
LS
sin o OO
(4) A2
h (3) ”.1 &
- (2) 3
(1) ,2 ¢l
: , &4
oo divisible DY i e
6 H yany IwWe digit numbers are di
Oow  man;
" 7
BodoBw HORPLED o)
7 & arnos 00 e .

2y 11
(1) 10 (2)

7 A f a triangle formed by the line xcos o+ .y sill o.= p With the Coordinate zyxe
& rL‘u {. i

ycoso+ ysino=p o[ :}drs’ﬂﬂg‘ﬂﬂs z}ﬁ;}ﬁé |Behes DBOFO
2
2 p )
. ) Ry @ P
(1) T acos o (2) - wcosa 2 sin oL cos g | o —

‘ If the slope of the line through (x, 5) and (5. 2) is 3, then the value of x is

(x, 5) Baw (5, 2) © thoar Y Op wren 3 BAND, X DD
(1) 3 (2) 4 (3) 5 (4) 6

If o, B are the roots of a quadratic equation ax®+bx+c=0. a=0 then L

O

, B en ffx2+bx+c={}, a#() A E). wrersd, —1-+l=
o

b 3
“ . b
ik P N e @ °

— —_\-\\—_1 -
SPACE FOR ROUGH WORK / 24 so8 BErONO0SBS




10 term of an arithmetic progression 2,14, ..., is

2, =1, =4 e @D wodHASN HED DI
(1) 21 (2) 23 (3) =25 (4) —27

If ©:=45, then n=

Tn=45 wowd, n=
(1) 9 (2) 10 (3) 11 4) 12

If x24+ke+1=0 has a root x=1 then k=

)
3 xz_}-h-.]nl:ﬂ )y Koo x=1 mﬁfﬁfrﬂh oD, k=
B 1 @2 ) 4 )
13 Tind the value of logg , 0.01
logg ; 0.01 dend Jod?
(e (1) 1 (2) 2 3) 3 4) 4
14 The value of log, eJe is
E- log, eve Dews Dos?
| 1 e 12 " 3 4
@) 2 @ 3 () 3 @ 5

. 4={C.0,v,1,D,19,2020}, B={C,0,v,1,D,19,2021} then B—A=2

A={C,0,V,1,D,19,2020}, B={C,0,V,1,D,19,2021} won$ B—A=?
(1) {2020}

(3) {2020, 2021}

(2) {2021}

(4) {€,0,v,1,D,19,2020,2021}

& Lq"'* " P
\ﬁ; 2 = .};""‘-m A ; _ L x e DL
{“'d' -“tq,‘. - - lﬂ . -L_.'h-“.
o =
7\ :
LYCET-EUEI——D ] v o )!
3 3
(% ,
LT i r r- "B 1



re
3 I“ s 4 " y . (3 :—“l'" ' ;g
. 4 Fhe seroes of the Juadatig |mhuum|ﬂ| \ both I.,,“,_-;:ll"'-I
1 ) " ) ‘ v
e | (1) aone positive and one negative () qe of the abo
| .
(3) both negatiny e (4) ™

| %
Lo

- 119 :
A TS R Il .,ﬁ ;ﬁq BT "-FF-J‘S*”

(1) :.H.Tdm-ﬁzg.;_-. ﬁ*mmm!duuméi!iﬂ (=

|
| (3) MMmﬁ‘gﬂ 14} Eﬁ 5 a))
o AL
/15
5 R . ynal number
(1) Natural number (2) Ration
(3) Irrational number (4) An Integcr
!
F W0
(1) sares Somg (2) wisefoX DOV
(3) ssedaxs Bomg (4) &g Bowg
I8 H.C.F. of 8, 9 and 25 is
8. 9 HBaw 25 o H.dv.sv.
(1) 0 (2) 1 (3) 2 (4) 3

19 If the system of equations 3x-2y—7=0 and ikx+2y+11=0 has unique so

3x—2y—T7=0 ®8af kr+2y+11=0 SESEre 88H IBE PGS S0
(1) k=3 (2) k#-3 (3) k=3 (4) k=-3

20 If 7x—5y=2 and 3x+y=4, then x=9
Jx—=5p=2 &dav 3x+y=4 woud, y Devd ?
(1) 3 (2) -3 (3) 1 (4) 2

SPACE FOR ROUGH WORK / 9 08 Seranoses:



:.J-ZI [ 2% =8* then x=?

7Y =87 wond x=?

(1) 2 (2) 4 (3) 6 4) 8

22 Cardinal number of the set A={-2.-1,0,1. 2} is

A={-2,-1,0,1,2} oS PO soRS vowg

* (1) 5 (2) 4 (3) -2 (4) 2
8
523 If\x+?y=‘? and T:—3y=-3,then y="
} x+Ty=7 oo Tx-3y=-3 ©own, ) Dend 7
(1) 1 (2) 7 - (3) -3 (4) 0

24 Which ‘of the following equation is not a lincar cquation ?

& (Bod B ¥sered® DB Bhaw JVEBwo S°E?

(I} 2+3x=y=J ':2) 3"‘I=_}’2+? {3) .T‘l“3'_j.'=1_'l“"."c {4) 54'+2']:=[}

25 What is the degree of the polynomial ‘?Hﬁugud +6u%-8 7

?zrﬁ—%ud+ﬁui —8 e DO HDArEAY Jods?
. |
(1) 7 (2) =3 3) 6 (4) -8

26 The value of x which satisfies the equation 2x—(4-x)=5—x is

11’-{:4—;1.'}:5-:': @ éﬁ:ﬂdm‘ﬂﬂl éﬁm X aend

(1) 4.5 2) 3 (3) 2.25 (4) 0.5
 —— —
0 SPACE FOR ROUGIH WORK / D& 598 Serono88s terss o
5 Y, : ? y
! - N 'ﬂ'j
X SPLAA TR 73 &
f Jon M F4 2 A . g ",
: oy S Y ) b4 LI o il S N
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p -’11-’ Lt T ‘\ﬁ{:] q} 3
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P

27

28

29

30

qual 10 —

__1 isnot€®
+3y= i,
Solution of the equations 3x—dy=17 and 2x A _ o 498 450
7 wpaty 2x+3y=—1 WL ancsid 81 150 2 11
3I—4.}"= 44 T? (4} ﬁ: 11
22 33 o A AR ( -
From the [igure, 0=
w0 od, 0=
C
100+/3m
v
A T [1g
100 m
0

The tops of two poles are of height 20 m and 14 m are connected by a vfirf:.
If the wire makes an angle 30° with the horizontal, then the length of the wire 1s

(1) 11 m (2) 12 m (3) 13 m (4) 10 m

20 5. Hoaxy 14 f. Ddhen e Both Hogre FHD) Brd & 50206, ¢ ardh 82 Bhross S& 30"
oo B, ¥ B BnE) PEY -

(1) 11 . (2) 12 2v. (3) 13 av.

(4) 10 2v.

If the mean of 6,7,x,8,y,14 is 9 then x+y=

6,7,x,8,¥,.14 o e 9 vowd, x+y=

——————

(1) 17 (2) 18 (3) 19 ) 20

Y ]
= ;
SPACE FOR ROUGH WORK / D&y H08 ﬁémnuuﬁaﬁ;& RSN
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The A.M. of 30 students is 42. AmMoOng them, two students got zero marks. Then A.M.

of the remaining students 1s
30 2od Argde idn 42. 786" adbs 0" Sy e 5%, NV Darghe Bty
(1) 40 (2) 45 (3) 50 (4) B

If (hrec coins.are tossed simultaneously, then the probability of getting at least two

heads 15
Gpch Tl OB KOS T A0 Body wOVED Hidy Hogragd
I 2 1 3
M 3 @3 3) 3 3
The median of 17,31,12, 27,15,19,23 is
1 17.31,12,27,15,19,23 o @y oggido
R 2) 20 (3) 21 (4) 22
34 Mode of 4, B,C, D,.......... 2 15
(1) 20 (2) 21 (3) 22 (4) No mode
. AB.C.D,...,Z ©@nE oEvwEo
- (D20 (2) 21 (3) 22 (4) ardowido dodh
i%: P(x)+P("not x") =
L P+ P('x wae") =
(1) -1 2) — |
. (2) -2 o 3) 1 . (@) 2

ﬁ A . - -

; dice is thrown twice. Then the probability of that '5' will come up at least

3 _ _ easl once.
88 OED Boddh At &8, N0 €30 od HuwoD 'S o) Hogrsges

25
4 — 23 L
) 36 3) 36 : (4) Lz

SPACE FOR ROUGH WORK / g 598 Stranogens
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37 If a two digit number is choosen at random (hen the probab

is a multiple of 3.
&8 o) OB, b 3 AN (Defeiy g HoerRgE

Bodo¥e "n:nmgdi‘
O 1
1 3 L @) %
(1) = @) 3 21 €)W 5
Ve
38 If the diameter of a sphere is 'd' thep its volume is
0¥ Fiefo @nky argdo 'd' wond, &) Ot s oyl
1,8 4 1 o Led®
(1) z™4 (2 3™ (3) 52 (4) 3
-
N
39 The valuc of sin® or cos® never<exceeds
(1) -1 (2) 1 {f.) 3) 0 (4) None of these
00 Bor cosO © Eng, devd BB I0D T
i) -1 2) 1 (3) 0 (4) D6 s°¢%
2
o e i 1-tan” 45" _ N
1€ ValuE O 14 tan? 45° O
-
_tan2 45° L
L_EIT-: ﬂuﬁ& mgﬁ L.._.J
]+tan< 45"
(1) 0 (2) -1 3) 1 (4) 2

41 The angle of elevation of the top © tower, whose height is 100 m, at a point whose

distance from the base of the towei-s 100 m 18
B e w8 Hodo 0 méu'é; 100 Drexg drdod® 882 B D Ko H0BOD JR0 09

100 g o

gﬁ%ﬂiﬁ ﬁiﬁﬂ___ = |

(1) 30° (2) 60° (3) 90° (4) 450
—___._-—-'-"'...

SPACE FOR ROUGH WORK / 9% 98 Beronoswdd Homw
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42 Three cubes of sides 6 cm, 8 cm and 1 cm arc melted to form a new cube then the
| length of the edge of the new cube is

(1) 9 cm (2) 8 cm (3) 7 cm (4) 6 cm
6 20.2., 8 =30.50. 0oy 1 o.ab. en gherenm (_Ss Sodparedn E0hAoD 28 i BHZVRO Soxrth
Sanre ¢ HBo ey, heo Fod Jos? g
(1) 9 Ro.cd. (2) 8 o.. (307 w0.. (4) 6 0.
L0
-

43 In the figure, the value of cosec A 15

& -
N
G
G
L)
i
€ O

N'IS 5

12 13 13 2l

(1) 13 2 5 € s 4) 73
L)
D

b cosB+sin®
44 If EDIB—; then T T
cos0+sinb _ -
ED{B:; v, cos0—sin 0 N
| B
b—a b+a ﬁ)a—h 4 a+
(1) b+a (2) b—a ( Na+b 4) a—b
o
F JPACE FOR ROUGII WORK [ Déb R Bero0BVBN ‘gge:ra‘m
x:i'”ﬁ o
At
- N ,
& N

D A



A

ts i - ~ " e e : . - 1
I'he perimeter of a rhombus is 52 cm, if its one diagonal is 24 ¢cm then the e,
1ts other diagonal is -

(1) 5 ecm (2) 7 em (3) 9 cm (4) 10 ¢m

%8 0°0S Qe wepsod 52 R0, HBam o 68 8o P 24 V0.D. VoD a7y
DAY does?

(1) 5 %o, 2) 7 2ok, (3) 9 0. (4) 10 2o.d.

s 3
6 If A+ B=90° and cot B=E then the value of tan A=

A+ B=90° »8axy uutB=% WOWN, tan 4 end

3 4
M) 3 @ 3 () 3 ) 5

47 If tanO=cot® then the value of sec@=

tan @ =cot B ®and, scch Dewd

1 V3
) 7 @ 3 V3 (4) 1
48  The radius of a cone is 7 m and its height is 10 m. Then its slant height is
(1) 122 m (2) 13.5 m (3) 14.5 m 4) 162 m
8 dogn) By argdgin 7 D. DB Jewd) b 10 . wand, Desarer ATY
(1) 12.2 . (2) 13.5 <. (3) 14.5 . (4) 162 &,

49  The base of two similar triangles are 24 cm and 18 em. If one side of

. : - : . the first triang
is 8 cm then corresponding side ol other triangle is

(1) 8 cm (2) 6 cm (3) 4 em (4) 2 cm
Body Hrs ([Brbere grave dHen 24 0., WO 18 20501, p B2om ehes 8 04
@O, Boths oErD [Hehe: gheo | 00,00,
(1) R (2) 6 (3) 4 4) > e
fq[?ﬂt‘['{ I-'ll-}l{ [:;{'H IGH WORK / Qé 08 ééﬁwm il b
. P

i
e ]’ _ ..'I



Il AABC~APOR, £4=32°, /R=65 then £B=1

AABC ~APQR; £A4=32°, /R=65" womd, LB="
(1) 93° (2) 83° (3) 730 (4) 630

In the figure OB=13¢m, OP L AB, OP=12cm then AB=

Hio wod OB=13 2ok, OP 1L AB, OP =12 0.2, ®@ond, AB=

A B

(1) 100 ecm (®o.d.) (2) 50 cm (20.) (3) 75 cm (20.)  (4) 10 em (R0..)

—16em. Let m=3, then the perimeter of the shaded

In the figure, AP=12em, PB

portion is o
Heo wod AP=12 Do.b»., PB=16 20.5., T=3 ©@ond, Wb Fanwds (Drodo %

ﬁ}%ﬂﬁ‘ﬂé Joeh?

(3) 56 cm @od) (@) 62 cm (o)

(1) 52 cm (o) (B 8 ol v
3 — FOR ROUGH WORK /92 508 Beromostih S
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A reservoir is in the shape of a frustum of 2 right circular cone. 1L 15 g m across y

top and 4 m cross at the bottom. It is 6 m deep then It capacity 15 ;
(1) 704 m3 (2) 174 m3 (3) 127 m? (4) 1H0

08 Bes0mg B S G208, Tencio (095 GsG08" ot oD T el (B0 TET Ty
4 . oot &8 6 B, wond, o 26 DO Jod?
(1) 704 &° (2) 174 5?3 (3) 127 By (4) 170 °

In the AABC: D, E and F are the mid points of the sides BC, CA and 4

Then area of ADEF : arca of AABC =

AABC &° D, E %3805 F en $85m BC. CA 30005 AB o 08gD0cYd

ADE] 3wreogo @ AABC Jwrego =
(1) 14 (2) 4:1 (3) 1:3 (4) 3:4

In the given figure £BAC=90°, AD L BC. BD=9cm and CD=16cm then AC =

200 00 20d LBAC=90°, ADLBC. BD=9cm ot CD=16cm oond, AC="
A
L B

- 9 D 16

(1) 10 cm (2) 15 cm (3) 20 cm (4) 25 cm

The angle in the minor segment 13

(1) obtuse (2) acute (3) 90° (4) None of these
Eﬂﬂ;}ﬁéﬁmnﬁﬂ &0 o & wo.
(1) D (2) @) (3) oo (8) S&wseks

______,..--"’

" . - T, i
Fa T r'-L'l:-‘} 1% ) 5 L ™ \ ]
F . )

"n"{". ‘l‘}..

4
.‘!-"."':

In



8

59

ol

In the figure ZBAO=30°. /BCO=40° then ZACK =2

a0 wod LBAO=30". ZBCO=40" eond, LAOC ="

C

1 3) 140° 1) 1500
(1) 100° (2) 120¢ (3) 140 (

aE " - = " .’r.;
r e 4-3 ; s ratio of the radii of their bases 15 =
. , - nes is 4:3 and the ratio ©
The ratio of volumes of two co

then the ratio of their vertical height 1s

(1) 4:5 (2) 9:5 (3

lic. then it is a

T |
If a pm—allelﬂgrﬂm e (3) mmdrilmcrﬂ] (4) rhombus

(1) rectangle (2) square

3 ) (+) ORI
o S0 (2) SEHOEE (3) Sdochyesw
(1) &g

n

& ;?}J-ﬁgﬁﬁ&i > T°§ .
(2) 90° (3) 4>

(1) 60°

e

280 Doty BTedw
o

N6 DoDY) 56 ¥ (4) 30°

e ——
_H—

s Dy HIE Aspaposinds PR
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|

oth (f) are all measured fro,

%950)
SECTION — B : PHYSICS (@785 #°2)

Ii l {jh- il i i'l.i 'c-[l
LLI. % ‘11.. i I ‘

:{;; I;'E"ii_'l.lh {IJ (2) lei": EE“II’E.‘P}
K centre of CUrvature () (4) principﬂl axis
"D Ao . o,
(1) = {:,u} 28802 dmgo (v) Trergosso (1) e & Docrd wobd EXT
(3) : (2) dﬂﬁ'ﬁu[ﬁﬂ{r’]
Seye "
S ) (4) orgin
62 When oo : _ | o
uq{:d ?a I}Lrh‘.]‘n 15 hll[Turng f'rurn bulh M}"‘u'lpiﬂ ﬂnd I_I},Pﬂrn]ctrmplﬂ_ '“.-rhth Elhl'_'lL
(1) Bi-convex lens
"h ' = " - ]
it o
=10
(FRGESE o, o , !
{l]lsn- ; TSRS e H288 ALArACHEHOHO
(3) as :Eﬁ S (2) Beiptrs=E S08H0
[
L S (4) ogaraigodd GEymi
ﬁs .Th 1 L]
“}c :';le;:lm,e of human body viries between
1
(3) 1 0 20.000 0 (2) 100 2 to 5.000
% OO08 ta 5,00,000:0 (4) 100 €2 1o 5. 00,000 2
DS SrdS 486 DB Gan D Devse g Botnos?
(1) 100 Q2 o8 50.000 O s¢ (2) 100 Q2 =od& 5,000 ) 6
(3) 1,000 Q 08 5.00.000 © 5% (4) 100 Q ®od 5.00.000 Q H5L

64  Which part of our eve is responsible for image formation ?

(1) Cornea (2) Crystalline lens (3) Aqueous humor (4) lIris
DD Ho3S"D) 61 wrdio BB (HBDowo VB hE0s?
(1) s~0yox» (2) seso (3) B SE G50 (4) =085

65 Focal length of a lens is 25 cm. Its power is
2.8 S5 Trgigossin 25 o.ab. wand, ool T EgEn
(1) 5D (2) 6D (3) 4D (4) 0.04D

SPACE FOR ROUGH WORK / D& @08 Seranoseds geis
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o6 Least distance of distinet vision 1s

(1) 25 m (2) 25 mm (3) 25 ¢m (4) 25 km
SR SpR1 €00 aresmn
(1) 25 . (2) 25 Db (3) 25 wo.w (4) 25 8.

67 In our eve cones wdentily

(1) Intensity of light (2) Colour

(3) Taste (4) Smell
i DD FolS'D FoaugHen BAD LoYran ?
by (1) s~08 s | (2) dorb
(3) D (4) a=3D
68 With the help of , eve-lens changes its focal length.
(1) Aqueous humor (2) Cornca
(3) Ciliary muscle (4) Pupil
80 JFFanod® Hods sdo &5 orgigosorn)) E:Fd&géméma&?
(1) Hss (S0 (2) s°0)0xr
(3) 2Daxd sodoren (4) S0

69 A current through a conductor is 24, when there is a potential difference of 10}

between its ends. Its resistance 1s
8.8 arfgo DHde g 10V FBJoNS DeSEH O ped, 24 gh (DEIrDoB. oD A Gos?
(1) 5Q (2) 0.2Q (3) 20Q (4) 2.5Q

connected to a battery the electric field in the wire 18
(2) more at negative terminal

(4) uniform in the wire

’0 When a copper wire is
(1) more at positive terminal

(3) not uniform in the wire
o8 oA S5 argeab8 SHBIO Y. Brss® DeiogB Blesdw

(1) &% gydo 5 DD5H (2) 2w $)Ho HE DY
(3) BKS® 8BS GOB (4) &S 808 Gotwotd

SPACE FOR ROUGH WORK / & 308 Séranosedd goin
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N (2 gPACE FOR ROUGH WORK / D& %8 Stranobass s
o
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—

Force x Length

N which quantity ? - Guoniil :
(1) Potential (2) Current (3) Resistance ;
peHn X DE) :
= o B o037

i (4) BaRds

s ) z]ﬂqdﬁj %
(1];‘_%&5‘}&:&6 (2) Dbogdygardrin (3) « 9

= ance 1s 200,

resist
esultant
4d 31‘1 R resistors are connected in series. R

Then R=7

40, 8Q, R d'gren [@cdS° Send wgron. pDS aetcan 2082 wond, R=7 .

(1) 60 (2) 49 (3) 189 (4) 8
-
N

UnEE for specific resistance
2243608 [Birore 1_

(I)L?lm (2) Q/m (3) m/Q (4) Qkg :

When how much current flows in the fuse, it melis ?
g%?'r-:mm o g8 [T O E6oOE0B?

( 1}-:,200 A (2) 2A (3) 20 A (4) 2000 A

I i

L) | |
Thé&-eurrent in a conductor is directly proportional to the potential difference betweed

its ends. This is called ..
(1) Faraday's law  (2) Kirchnﬁ‘s law (3) Ohm's law (4) Newton's law

St gy o Fd0 Do TBINS Bard8 0d&ird FEcd’ éotnod

o =)
B2 Do wotrH?
(1) 38 poswisn (2) 855 dabids (3) 65 dosiime  (4) drgesS QonH

L) ke _ s :

‘;7‘/? [



Conductivity =

(1) Resistance™  (2) Current-! (3) Potential-! (4) Resistivity™!
grarsEgo =
(1) D! (2) Desogesygmitmiiny=! fﬁ >BI00E! (4) d3506%Gmy~!
|I . Ej
2] 7 The alloy made of Cu, Mn, Nj is g
(1) Magnesium (2) Magnet (3) Manganin (4) Magma
Cu. Mn, Ni o8 a8 Q% oo
(1) DAytasbo (2) a5 (3) #rordS (4) sy

78 .- If a light ray passing through centre of cu.fx:ﬁamre (C) of a mirror is incident on the

- (1) Through focus (F) {2) Through centre of curvature (C)
| (3} Retraces the path @ Through any point

28 5708 88620, SO min Gy, HEee Soo (C) 008 (HaXrefr 6568080 2 HESRIPE, JovHEH
 S6wo Gy, Brdo |

(1) =9 (F) cvoar (2) “gedoo (C) oar

(3) o8 &rdo thoae JEH (Barrdpos (4) O Bd Dotk rwoar

e

y
A
o
b
]

I-
]

i
4
i
.I:

3

If magnification is equal to one, it means
(1) Image is smaller than object

(2) Image is larger than object

(3) Image is of the same size as that of object
(4) Image is point size
U550 2488 (1) wand, avddo
(1) ©dDowy, B0 Sam) D)0
[(2) Podowny, HpY So) VL6
() 8002w, BY Bodr &8 H0ErEOS” )0

(4) ©8Dowtn Dotk drismws® 6¥)6

i
N

]
¢/

05002

U020

g

)

C
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Focal plane of a spherical mirror is

80 ‘ .
(1) Line joining pole (P) and focus (F) ol lthr.: mirror 8
(2) Plane perpendicular to the principal axis at focus (F)
(3) Plane pr.:rpr:ndimllﬂr at centre of curvature (C) i
(4) Plane parallel to the principal axis.
Areesed S8 Gl 83, ok Heo wod
(1) s8ym &ydo (P), =B (F) o gend) o !
(2) =& (F) 26 Berargras oon® &), dheraadd
(3) Hge Soio (C) &5 eowore &), S
(4) BEag8 SiroddonT ¢od Sed _ y 15
81 Dentist uses this mirror to examine teeth of patients. ; |
(1) Concave mirror (2) Convex murror
(3) Plane mirror (4) None of the above
Sod Dogdd B°H dosrem HBBoBodH ABABPAOD BT)E,
(1) Drsed GE)@an (2) o250 S yeamn
(3) e S60d0 (4) P Io® 5°Y)
82 Focal length of plano-convex lens of refractive index n and radius of Curvature
n 9825 g, R Higee grgin (o SHEe Hozrsed §&5Hn A8y Tergodtiy
s i = n—1 4 __k
(1) f=R @) /=% @ = @) f===
83 A bird is flying down vertically towards the surface of water with constant g
A fish in the water vertically below the bird sees the bird
(1) Further away than actual distance
(2) Closer than actual distance
(3) At actual distance
(4) In inclined position
wsrdod® &) 18 D sBdde0 BT Lo 245 588" (Botsth (Hoxrefyod, HEE eoworr s
God, v DHH B§
(1) eden %0 g08) drdorr S5t od
(2) oen a0 0B ST Sexdb&od
(3) edden :éﬂmeﬁ" gt eHod
(4) mrend® gdebdod
= _,__—-——""'-—.".-
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84 A convex lens form image of an object at infinity. Objeet is a

(1) focus (F) (2) C=2r (3) infiriy (4) pole (P)

&4 Hogrsf Kddih, [_B.‘!:Bﬂumhl w0 drdon® ;]d;}dﬂuﬂ. VR Y E‘Fﬁﬂlﬁ‘ B 0dnod).

(1) = (F) (2) c=27 (3) o crdo (4) )8 doo (P)

85 Formula used when 5 light ray enters a medium of refractive index n7 from a medium

of refractive index Il at curved surface with radius of curvature R is

r,
-

(POXrEIoRIP, S5 B0 55 smnn a’ﬂﬂaiﬁ-ﬁ

?; (1) ng_nm_ny—n
) ¥

_ a2 —n
G 2 (2) V==
X H Ty ny AL _na—n
o R (4) 2+1=7220

86 An object is placed at a certain distance on the principal axis of a concave mirror.

If the image distance (v) is 30 cm and radius of curvature (R)

ol the mirror is 20 cm,
find the object distance (u).

o
h
|

(1) 10 em - (2) 15 em (3) 30 cm (4) 7.5 cm

- 28 DErSTE BEHRY BorEin D Eod $r808° e S0P GoSwER. H8Do drdin (v) 30 0.5
- hany ddymin Ay, HEer argrdin 20 Do.d. wand @de, K Srss (1) Jod?

: {1) 10 208 (2) 15 0.9, (3) 30 'mhs. (4) 7.5 0.5,
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87

88

89

20

When g set o

on a cony N lens, thes

(1) E‘nm't:rgu at tocus (1)
- N -
(2) iy Cree rom locus ()

(3) Can CTEC (0 g Pont on focal plane
(4) Diverge from g point on focal plane

Borargos® | 50 Fwo San

. . inchne
U parallel ravs of hight inchin

g8
Barralod sod poudn H0ars"C

. |

Pt
p‘l"incipﬂl aNIS, are in [

4 at 139 10 the

H

Lo ﬁj 1 n)
:‘ﬂ.‘l:‘f nﬂ@ﬁ:}m L= 1 4

(3) >bax SLOD 8 Doty 3 So|bg s eaw
(4) =bHan SO0 a8 Doy mosd JRo|dgdorderan

It object ang image lic on
(1) Concave
(3) Plane

To find normal ;IJ a curved
(1) Focus (F)
(3) Centre of curvature ()

AESrI8 2.8 Doty 5T wowin, © Doty

(1) =B (F)
(3) Hs& Sosian ()

When distance between object and scre
many positions of the convex lens. image is

DY), Blw WAL Ardo Hogrsd S g
A TS HBDowI B Ko™ dotwos?
(1) | .-

surtace at :

' ' i * mirror 1s
the same side ol a mirror. the mirr

(2) Convex
(4) None of the above

1 point. join that point and
(2) Pole (P)
(4) Any point on principal axis
(8o D0 Dok & Sexver H B Sod.
(2) &)8 Sosan (P)
() @orgn 2 I8 Dosow,

en 1s more than 4 times the

sharp ?
odcr8 (f) 4 Based QYD B 0ALE, Serg:

tocal length.

(3) 3 (4) 4

=, - : \\*—
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SECTION — .
N~ C : CHEMISTRY (53008 7739:0)
F' b i

O~

; |-.I : R | [ Y |

B0y T i I;.-: "" ':-

01 h‘r“ T Y ""'-‘h]ﬂLL and n
- ". . .
P-block LILI‘I'H.I“.‘\ are there in the second period of the modern

ermdlL table ? v Cn
SonE LDoH Dalg

"!.I] i 'i: i 7] ﬁt::l Codd Mﬁﬁﬂ Jﬁl S-H‘E anHoly ['}*E"E AT ED ﬁ'l'.'l#]?

(1) =t (2) §, 2 .1.31""_1‘ 0\ (4) 4, 8
9 In ll:t:lll':ll.;dt:n'l periodic table group 2 (IIA) elements arc called as

(1) ali metals (2) Alkaline carth metals

(3) Halogens (4) Noble gases

Apdd oBsd B35S (05 2 (IIA) svrostod JDD wotrd?

(1) g6 &S (2) srdin)ds &'fen

(3) Sz (4) 26 srayen

93 Which of the following atomic numbers of elements have similar chemical properties
S (Bod SreSS® O HSErm Do (o IO o8 Garand Gomgen 8DA dotR?

u) ? 8. 9 @)19,.17,:35 (3) 3. 10, 11 (4) m 1,
fﬂT H.‘-E

9 The valency ol Calcium 18

u-gaﬁ-:r Ay Soarssd
(1) 1 &) 2

%8 Atomic number of an olement is 17 then the
Lo O beanbh Bodin? g
.

o foresan GE)
3 4 4
(1) 1 @ *) | -
L1

. element ?

(3) 3 (4) 4
period o which this element belongs

HEArm SOBG |7 wonn @

9% Which of the following I

(800 36 BO (3) Ne (4) Ar

{I} HE .,._,;l Nﬂ
FOR ROUGH WORK / D& 08 Baronowndd DO

SPACE



Vi

. reacts W!
. (R {4} CaC'l,
97 The product formed wi .

ek o Loary 548 B E),

(1) CaSO, (2) Ca(OF)2 I g[rnl'jﬁi"'; of aqueous N
clie

ndllﬂl in

;
s Do BTV i (4) H
3) €l

: ‘. I
98 Which one of the following is not @ p
NaCl emelarad dagh T ngﬂﬁ‘ 800 &
(1) NaOH (2) O,
il
.. o rhe iﬂﬂl uqllﬂl“} -
99  What does the svmbol 'A’ represent 11 a L:;n:lculing (4) Physical ¢
& |

(1) Catalyst (2) Precipilate
Srossis SoEdmos® A" e gy BAD e Do0T p (4) 588 PO
(1) &8yy050 (2) esdoo (3) BBV0A0

100 The chemical reaction in which heat is absorbed 1S c““f.:d action
(1) Oxidation reaction (2) Exothermi€ rea
(3) Endothermic reaction (4) Reduction sk

S0P SEgS” 'ao' ((Eroswdd, ¢ SEs Jnd wotrd?

(1) 8 850 sy (2) oSS 368
(3) slrrdrg $og (4) Sonsde BOg

101 Which of the following has highest mass ?
(1) One molecule H-0 (2) One gram H50O
(3) One ml H,O (4) One mole H,0O
(808 5e36° wigd (SideoRd EONGOBA?
(1) a8 o I{EO (2) o (70 H-j{)
(3) w8 2OdE H,0 (4) &8 3ré H,0

102 When the equation. Na+H 20— NaOH+H; is balanced. what 1s the coe

'‘Na' ?
Na+ H>0O — NaOH + H» %ﬂﬁmﬁl deogo BB "Ny BuEY HBEo Jowk?
(1) 2 2) 3 (3) 4 i
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I HNPUritic o L
103 he | les present in the ore 15 called as

; FFlux
”;.:EE‘E (2) Gangue (3) Slag (4) Mineral
e i QX ﬂ'ﬁﬂ- OO iR eodrd:?
=it Saoer
I,J (1) « ﬂ (2) rmoh (3) a*Frwowo (4) mieso

The reacti _ i . -
104 on that takes place in Thermile process is

(1) Reduction (2) Oxidation

(3) Neutralisation (4) None of the above
028 Sdes® waA g

(1) Savssmo (2) wlyddwo

(3) S&J¥S00 (4) 25D

105 In electrolvtic rehfining of metals, the pure metal is taken as

(1) Anode (2) Cathode (3) Electrolyte (4) Vessel
Hgs Dk el S50 [H8and® HG 5o BIS B Doerd?
(1) & (2) =&'6 (3) doetydé (4) 28

106 Potassium and Calcium belongs to

(1) s-block elements (2) p-block elements
(3) d-block elements (4) f-block elements
Péraabo Hdo s*davo drosten o wEH Bod?

(1) s-28 doresren (2) p-zr§ rosten
(3) d-2r8 resren (4) f-z8 foresren

107 Which of the following is used as a flux in the smelting of Haematite ?

TPHBES (BOB0 HO (BBSTOMT GHAFN0IO 67
(1) SiO, (2) CaSiO, (3) CaCOy (4) FeSiO,

108 Which of the following is an ore of Iron ?

(1) Bauxite (2) Haematite (3) Carnallite (4) Pyrolusite
52 (808 0836° @D GrébD JO?
(1) er8yeS (2) wBes (3) =6)BEs (4) PBoogs
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109 Which one of the following is strong acid 7 |
. r P11
a |8
|Bod T¢e3S° mehd eyt 087 (4) NH,OH
(1) CH,COOH  (2) HCI (3) Ho0

110 Which one of the following is an auidiﬁ:?xidﬂ ?

1Bod m6° wd) uBb 267 )
4) CO |
(1) MgO 2) NanO &>(3) Ca0 2 e i
Q) :
L{"] \
111 Metallic oxides are generally in paturc. ;
—_— : 4) b
(1) acidic (2) neutral (3) amphoteric Gh) SAME
& eiEyb w SpgrdworT .fasg:-a-ﬂl £0n Aaotiran. '|
Lt i1
(1) o8 @) soy () ogegwiemss (B FE =
= tal is |
112 The chemical formula of blue colouredCCopper Sulphate crysta - i
88 dorks S TBYE Do Eny I0H® éi e e |
(1) CuSO, TLO  (2) CuSO,-2H;0. () Cus0,-5H,0  (4) CusO,10H0
=) |
113 In an atom, when electron jumps from ground state t:? cxm];ed state |
(1) no change in energy ' (2) energy 15 emitted | ,
(3) cnergy 1S absorbed (4) depends on atom 11
assraid® dosyS argron wob G8AS Fop3 SPOOE
(1) #8&° ardo) OB ~(2) #8 SgrEddw
(3) #8 frohd - gm) AP D WG EHD
L) 1-
114 The nature of chemical used in antacidd® '
(1) Basic (2) Acidic (3) Neutral (4) All the above
afrotrBE® GHBPA0D SIODH DG Ve |
(1) g6 (2) e - (3) &8 (4) 7359y |
_ oy
115 pH value of aqueous NaCl solution 18 Eﬁ '
NaCl zolorsnin @y pH dewd -
(1) 1.7 (2) 2 L =
@) .10 4) 7

o g
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I8 :
.-’-h:t: |H"h]|1tl el ioe : i . .
|10 vhich s filled with electrons immediately afler 3p' s -

Ip' @b A
P ; Sy Nodi el o of n}mEﬂ:ﬂJﬂ‘ et r:.lﬁ;_.l".]"l:ﬁ a7
1) 45
(1) (2) 3d (3) 4t (4) 4p

I'he quan : . . : ‘e
17 4 Wm number which explains abéat the spacial orientation of orbitals is

uﬂl__“.&l"“‘,} e g ﬁﬂxmgaﬁhml BT g Lo ;3;“-"5

(1) n (2) ¢ (3) my (4) my

(18 Which of the lollowing has larger wavelength in electromagnetic spectrum

(1) Gamma rays O(2) UV rays
(3) X-rays ]fd‘._j Radiowaves
H.0 DEDFENT; 08 He06® BB S0rBEso SO 7
) (1) ™ 8cwmen . _J{?IJ 08dod’ird 8w e
(3) X-B&8erey (4) Ba@r ddorren

119 When n =4, the total number of subshells in an orbit is

n=4 m SO P & S8 008" aod Do dé%ﬁgﬂ‘ﬂ ~omg

(1 1 (2) 4 3) 2 (4) 3
(7))
- '
120 The correct set of four quantum number values for the valence electron of sodium
atom 1s -
FBano HSarmH D) Dol JOFIVD ﬁq&?{l 572040 HORFL Dedew
1 L) B B _ _ l.
(1) n=3, £€=1, m=1,s=~—3 O2) n=3, £=0, m=0, s *s
= e
! M, SR
(3) n=3. £=0, m=1,s= *3 —X4) n=3, £=1, m=0, 8= ~35
SPACE FOR ROUGH WORK / Qé 68 Seranovuds Dot
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121

122

123

124

125

126

- (2) @088

SECTION — D : B1OLOGY {:ﬂﬁ'ﬂ““ﬁ?gl”}
) Nhﬂhidi“

{III*;E l:l!i‘ulni‘tl used as medicine for snake bite is
= cserpine (2) Calleine (3) Quinine ¢
& . :
G RS G UL — L XL L AL N 6 DHD
(1) D058 (2) B (3) DepS | ohy 2
-'I-|I % - - " ) i !I
{I;LT{]IWL — number of cranial nerves in human beinE 4y 13 pairs |
pairs (2) 15 pairs (3) 12 pairs { |
SraHod® gdre ardoen Y? &
e
(1) 10 esdfen (2) 15 casten (3) 12 md» @ 12 °
U T Bl s 3 i ‘ d ﬂre
Nerves ““‘“ carry impulses (rom sense organ 10 brain OF *’T‘mal f;r g fferent nerves
(1) Dendrites (2) Afferent nerves (3) Motor nerves ;ﬁ*@m
didro S°0 DG erRo|ldab rrre wobd B ey Jol ard HFER N A sEr o0t T
(1) Bogdyd» (2) ©d o ey  (3) aAreb HoTD o |
. rqini soust have stopped II

A person has loss of control on emotions. which part of

functioning ?
(1) Medulla oblongata (2) Diencephalon
{3} Midhrain , {4‘] Cﬂfﬂhﬁuum
& et

DS & a0 SO Do B o8 S rBgme 2008 B
(1) Sogrdwowo (2) orgsfrgo
(3) DSy DED (4) o DX
The most Poisonous of all waslie products of m:::tahuli_sm 5 (s 4
(1) Urea (2) Uric acid (3) Ammonia (4) Amino act
S8 Gy @) 38 a8 Hed” ©god D OTRND : _
(1) axrdos (2) oxires wipo, () e oK (4) oS e
The hormone responsible for plmtntru;}ism in plants 1S I :

' (2) Gibberellin (3) Auxin (4) AbscisiC acid

DHgRo® o8R0 VR)W-
(3) o8 (4) @S w0

R -
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L4
what are the

7

|3 l'” UPF‘::T t:f'lq;lmhlur_
(2) Upper {:hﬂ”'lhc:: arg o

(3) Left chagp,

&) s e i
(4) Lel champgy. 'I.I"L

ventnicles in the heart ?

“-]IL"[I 'Hrl . .
cn e - '
calleg .lt‘ILI:_h and lower chambers are called auricles
-]l.l "I f g "
auricles and lower chambers are called ventnicles

AR o
(4) MEDDY) 22:68Ke, 60z, E:E;@ *::jw @otrown
ol Ot cyodIv o
28 Through whic]
” (1) Xylem Vo the FU”“W'"E Is water transported in a plant ?
(3) Medulla (2) Phloem
WS AkH B 30 CoreorBorsin (4) None of the above
1) & '
[ e (2) rdddmereo
(3) &g

(4) 329 sveho

129 In h“mﬂ“5_= thﬁi total amount of urine excreted per day is about
- (D) 2.5 - 3.0 litres (2) 3.0 - 4.0 litres (3) 0.5 - 1.0 lire  (4) 1.6 - 1.8 litres

| Sradd Berd ooy 2Ry dexg ey DD >?
(1) 25-3.08 (2)30-40b  (3)05-10b (4 1.6-189

130 Which of the following 1s the largest artery 7
- (I) Aorta (2) Coronary artery
| (3) Pulmonary artery (4) None of the above

He3e5® e G S 067
(1) 2yEeesd
(3) Do e

(2) #083Hd
(4) Soseh

|
31 Which vitamin is nece

| S8o Agsgpe® D mﬁé"ﬁﬂ? 3) C (4) K

) -

ssary for clotting of blood ?

| SPACE FOR R



IJ'.?. 1The j'll.'l"-ll]-:_'rn

L
O6 the right Kidney 15 [

this organ abon U
¢l ynk 2 Aotuod, d.,
v ) [ N Bob- N
(1) Bramn (2) [ivel ! _aic:-l'ﬁ &8 L&%ﬁf_

o fjﬂ
ﬂ:‘ 5 ™ - . i I £ ﬂﬂrﬁj
'ﬂ ___ml' ﬂ "l'll ﬂl]""l'i “‘-"ﬂ'ﬁ."‘ l.'t.l.ilfl HI.'. ,ﬂ‘ r:!’i ) ._l‘h'ﬁ i) .pl_"-rl

S OB dn e 250 aiﬂﬂ.ﬂ
(}) ad (2) s~#Aano (22 ”
£
ill Lurﬂh,
133 In 2 generation, the phenotype ratio of ¢ dihy P!
DERO8Se (Arros®, |2 dso &l S)¥8 o0 P> 3:1 (4) 3:9:3:3
Gy 93 (2) 1:3:1 (3) 9
i : le O
134 The wings of a bat and wings of bird ar¢ 4 examp -
= ia
(1) Analogous organs 2) Vet us organs
(3) Hind limbs (4) Hﬂmﬂmbﬂ
ADy©0 B en DHbay HE BE)en &) Ao

(2) ehh @BONT

(1) |Boxr g edabaren
(4) domye g GDOVT

(3) SESrormen

135 Number of pairs of contrasting characters in ped plants selection bv Mende

20BS Iy B HBBE wmreD word BEy S K)HT YD
(1) 3 2) 7 (3) 5 (4) 2

136 The Origin of Species was written by

(1) Charles Darwin (2) Jean-Baptiste Lamarck
(3) Charles Lyell (4) George Johann Mendel
erdie 3838 (085 Bd D) PIF Sond

(1) =85 a°bgs (2) £5- R by
(3) =8R8 (4) 28 &5 Dores

e —
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CF b e g

’1.? [",;l,|;.ll.'l.'lt'lh‘r|1.,}
i : =
(1) Embp

(2) Fossil evidence

DD Wi (4) All

(2) Sera DAd)mren
[+ vy

138 While swall :
O - i _ ) _ . ‘
(1) Pharyny N8. Which part diverts food mass aw ay from the opening of lanmx 7

GHSH e (2) Trachea (3) Epiglottis (4) Alveolus
(1) (422 o7 SRWaBo6® Jeretng BIFSY WGSH DS INISTIS IV oo Dau?
(2) atverohn (3) aRired (4) Tabbsd Rooen

139 Which of the tollowin

5 g 1s sound producing organ in man
( ) Fhﬂl‘}-’nx

(2) Larvnx (3) Trachea (4) Bronchus
SIS Hardy) A638 B etanso Da?
(1) =0 (2) wngatuis (3) otomeo (4) wgaTvo
140 In which plants OXygen is absorbed through aerial roots ?
(1) Mango (2) Mangroves (3) Banana (4) Rose
2 By et ToERE orgor 8 28 ben FPah®?
(1) sra (2) sroyerS (3) ooce (3) ood

141 What is the energy currency of the cell called ?
s ) Jogan) 48 (HErerd) DIHoddh?
(1) ATP (2) MONEY (3) DNA (4) RUPEES

142 Which cell organelle in a plant cell participates in photosynthesis ?

(1) Mitochondna (2) Chloroplast

(3) Golgi complex (4) Endoplasmic reticulum
5)% S0 S°D D Serordn 80w Wiy YArE (BaNS” FSTR?

(1) D&*sro@ak (2) 0 (e Do)

(3) m® Doso (4) ®osds Gigerwo
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143 “f"i{}t:r l'hu.: following pairs is matched *Jf‘f""“:ll'

(1) Folic Aci Deficiency Disease 144
2 B C t.n_J . Nervous Disorders

{::' Ht*""f:'[h"""%-' Acid - Anacmii

l::;'.i \'_“1““ _ | - Burning leet

(4) Ascorbic Acid(C) - Scurwy

& (Bod ard3S® DB HOELH ms *

-
QD A g g

( ‘i ) POE b - e Howod B0gen
(2) Dos"BIS wiyo - @ddoXr I
(3) 2odlrdln - ©bsY) s EIEN

(4) @205\8 es0(C) .
&O0= ol 9308 st during pl:]i]iﬂﬂ}'ﬂthggh :
evolved by P af experiment

144 Which experiment proves that oxygen B {le
(1) Hydnlla experiment H (2) Mohl's 2% bove
(3) Black paper experiment of £1° °
&) [SHArSEL o {0° TnE) en Bdmasig Doddrd |8 o

(2) ardy e A8 E

(1) rée @ardo
(4) T TP

(3) %o s~Afo [HArHo
i : ' ' stem !
x — Oesophagus —> gtomach — Duodenum -

(1) Mouth — Buccal cavity — Pharyn
Small Intestine —» Large Intestine — Rectum —» ANus
x — Ocsophagus — gtomach — Duodenum -

(2) Mouth — Buccal cavity —> Pharyn
[arge Intestine — Small Intestine — Rectu
Stomach — Oesophagus — Duodenum

(3) Buccal cavity — Mouth — Pharvnx —
Rectum —» Anus

Small Intestine — Large Intestine —
(4) Mouth —> Buccal cavity - Oesophagus — Pharynx — Stomac

Small Intestine — Large Intestine — Rectum — Anus

& (300 TES° SrEH SR Foh DO HOIH?
(1) &b — wdgirdo —> (W) = uifs airé — dordano —> oo — AN

0 (b — BFreo — oY)
(2) S — H&gﬁa#ﬁo > (50 W EGarrs —> eﬁgnégﬁm
DSy e — Hbtro —> AN
(3) edgdhrdo — Sy —> |50 — Sgrdadan — S E —> woldhrgo —> ﬁﬁ;ﬁﬂ'

EJQLM — Hbserdo — o)
ieg > (100 —> Bordonin —> wodhrdo —> DH)[E

(4) S — eggHrdo = SEAS
265030 —> Yo o)

CE FOR ROUGH WORK / D& 308 Beronosads deydn
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148

149

150

In I'\l.'.ll'l[:ﬂ, "--“... Iﬁh
LI ISTH ;

. vl g "

t'l‘ hl.."'-“-f"."i “"”" AT TRITS “”l. -“'1,..\“.1“[.", e boikinm W '|.|.1||.| hi

Ay oAt %ﬁhﬁhﬁ
(1) Derey

L 3
L2) L ‘i.“'q.ll.."\‘['pll'l.. \ Py by b nii ihy lh'lnllu b

Waan ' -
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